
If  111 x 112 = 111 + x2   then x = ?

1 If 1/x + 1/y = 19/72 , then x = ? , y = ?

2 18 4 4 =  2 hn« `mK¯v A\ptbmPyamb {InbmNnlv\§Ä tNÀ¡pI.

3

ASp¯ Nn{Xw hcbv¡pI.

4        If  2x - 3y = 7  ,  2y - 3x = -8 , then x + y = ?

5 A photograph of size Its enlarged size

x = ?
21

6

Area of inner square is 10 square units. What is the area of outer square ?

7 A

Triangles ABC and EBD are similar.  DE is not parallel to AC
AD = 5 cm DB = 3 cm BE = 4 cm

     D
BC = ?

       B    E C

8 3 4 5 6 7 8 Find the MODE
2 3 6 4 3 2

9
Route 1

All figures are semicircles.
Route 2 A journey from A to B.

Sheeba took route 1 and Deepa route 2.
   A  B They both have the same speed.

BcmWv BZyw F¯nt¨cpI ?
( Sheeba , Deepa , Both at the same time )
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10 HcmÄ Hcp Znhkw sIm­v 2 m X 2 m X 2 m size Â Hcp Ipgn \nÀ½n¡pw. 
CtX \nc¡nÂ 3 t]À tNÀ¶v 4 m X 4 m X 4 m size Â Hcp Ipgn \nÀ½n¡m³ F{X Znhkw thWw ?

11         D C
b ABCD is a rectagle.

c a = Area of the triangle as in the figure.
a d b = Area of the triangle as in the figure.

c = Area of the triangle as in the figure.
x d = Area of the triangle as in the figure.

x = Area of the triangle as in the figure.
       A B

x = ? ( b+d,   c+d,    a+d,   b+c  )

12 1,1,2,3,5,8,……….. CXmWtÃm ^nt--_m\m¨n kwJyIÄ.
Chsb U1 , U2 , U3 , U4 , ………………………………………… , Un F¶v kqNn¸n¨mÂ

U2n+2 x - U2n x U2n+1 = ?

13 6 ! + x = M(7) x sâ Gähpw sNdnb hne ImWpI.

14 Hcp AP bpsS 7 mw ]Zw 23 Dw 14 mw ]Zw 44 Dw BbmÂ 21 mw ]Zw ImWpI.

15 2x + 1, 2x - 3,  x + 2,  x + 5,  x - 3 F¶o 5 ]Z§sf Hcp {]tXyI coXnbnÂ {IaoIcn¨t¸mÄ 
BZys¯ 3 ]Z§fpsS XpI 4x + 3 Dw Ahkm\s¯ 3 ]Z§fpsS XpI 4x + 4 Dw In«n. 

F¦nÂ B {Ia¯nse a[y¯nepÅ ]Zw GXv ?

16 Aeo\bv¡v 7 IW¡v ]co£IfnÂ In«nb icmicn amÀ¡v 56%. F«mas¯ ]co£bnÂ F{X amÀ¡v 
In«nbmÂ icmicn 60% BIpw ?

17 Hcp {^okdnÂ 5 cm X 3 cm X 2 cm size Â sFkv I«IÄ D­m¡mw.
3 enäÀ shÅw sIm­v F{X sFkv I«IÄ D­m¡mw ?

18 Y axis
    A    B

    D     C

X axis

Nn{X¯nse hcIÄ y=3x,    y=6,   y=10-x,   y=x/2 - 3 F¶nhbmWv.
F¦nÂ  y=x/2 - 3 F¶ hc GXv ? ( A,  B,   C,  D )

19

………………………………

C§s\ XpScp¶ ]mtäWnÂ 294 hcIÄ¡v F{X Ip¯pIÄ D­mIpw ?

20 Hcp t¢m¡nsâ an\näv kqNnbpsS \ofw 6 cm. aWn¡qÀ kqNnbpsS \ofw 4 cm.
2 aWn¡v kqNnIfpsS A{K§Ä X½nepÅ AIesa{X ?

P

U2n-1


